Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

@ Key Elevation

Eey NorthClad Standard

NO. DESCRIPTION oate |, | |Proiect Sheet Title

DET

B e o NorthClad AL

] | Panel Standard |=—

W0 IE
Northce=Clad 4 Details

rainscreen solutions 5
Sheet

6
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 Key E | eV

* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7

APPROVED

www.northclad.com
- Insulation Inside
This document is property of NorthClad and should not be used, duplicated or modified 9 u .
without the express written consent. Copyright © 2010 th e Stu d C&Vlty

NorthClad All Rights Reserved 10




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

Index

A. Section - Horzontal Joint

B. Plan - Vertical Joint

C. Section - Base of Wall

D. Section - Coping

E. Isometric - Coping Splice

G1.
G2.
H1.
H2.

J1.
J2.
J3.

K1.
K2.
K3.
M1.
M2.
MS3.
N1.
N2.
P1.
P2.
Q1.

Plan - Outside Corner without Trim
Plan - Outside Corner with Trim
Plan - Inside Corner without Trim
Plan - Inside Corner with Trim
Section - Window Head

Section - Louver Head

Section - Door Head

Plan - Window at Left Jamb

Plan - Louver at Left Jamb

Plan - Door at Left Jamb

Plan - Window at Right Jamb
Plan - Louver at Right Jamb
Plan - Door at Right Jamb
Section - Window Sill

Section - Louver Sill

Section - Fascia to Soffit

Section - Fascia to Soffit

Section - Soffit at Top of Wall

North8s=Clad’ ||

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204

NO. DESCRIPTION pate |, | |Project

1 Design 10/31/2014 [ ME

LI :

rainscreen solutions 5

* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com

This document is property of NorthClad and should not be used, duplicated or modified 9

without the express written consent. Copyright © 2010
NorthClad All Rights Reserved 10

NorthClad AL
Panel Standard
Details

Insulation Inside
the Stud Cavity

Sheet Title

DET

Scale

Job Number

Sheet

Index

APPROVED




P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

Last Saved By: eversm on 10/25/2014

=——— uoisusauwi |sued

—— #14 Screws at Framing or per

Engineering

}/Zu

Weep Slots @ 6" O.C.

— Y%

uolsuswiqg |jgued ——— =

Framing, Sheathing and WRB

NorthClad Aluminum Panel
not by NorthClad

Section - Horzontal Joint

A
DET

S < ||
|| = - |k
all |l Ew
:PIE |8
Tl [E |2
s |l |18 ||&
Lm
<35 L=
T c v 23
C © = =0
Ita nd
OwnmH= 83
c 9 85
£ 00 3Fo
o < £%
Z ©

ol

rainscreen solutions

B ‘
Northods=Clad

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204

* PHONE: 425.740.3702 * FAX: 425.740.3701 *
www.northclad.com

This document is property of NorthClad and should not be used, duplicated or modified

without the express written consent. Copyright © 2010
NorthClad All Rights Reserved




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

14"
NorthClad Aluminum Panel Framing,
Sheathing and
WRB not by
NorthClad
<———— Panel Dimension Panel Dimension ———=

}/Zu

/g\ Plan - Vertical Joint

This document is property of NorthClad and should not be used, duplicated or modified ° I r;-]su ISatIC()anI:nSIde
without the express written consent. Copyright © 2010
NorthClad Al Rights Reserved o the Stu aVIty

NO. DESCRIPTION oate [, | [Project Sheet Title DET
1 Design 1013172014 | ME N O rt h C I ad A L
2 Scale 3" — 1| OII
e Panel Standard —
North&scClad® | ane Stahaard | =
4 -
rainscreen solutions 5 D e tal I S —
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ’ D ET B
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
8 APPROVED




Last Saved By: eversm on 10/25/2014

P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

=— 13"

Framing, Sheathing and WRB not
by NorthClad

NorthClad Aluminum Panel per
A/DET

WRB Detailing not by NorthClad

(Required) .050" Aluminum Starter
(Pt.# AL21) Attached with #14
EPDM Washered Screws at
Framing or per Engineering

Ya"x¥" Weep Slots @ 6" O.C.

Panel Dimension

(Available) .050" Aluminum Base
Flashing (Pt.# AL22), Prefinished
to Match NorthClad Panel
Attached with #12 Screws 24"

O.C.
}/2"
<
a
< 4 :
4 7
‘ 4
<.
/(-:\ Section - Base of Wall
DET
NO. DESCRIPTION DATE INIT. PrOjECl Sheet Title
DET
1 Design 10/31/2014 | ME N O rt h C I ad A L
Scale W a1 AN
HE | - 1S dard 3'=1-0
N th .DD CI d® ’ Pane tan ar Job Number
ortnomoLVilat 4 Detail
rainscreen solutions s etal S P
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ’ D ET C
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
8 H H APPROVED
This document is property of NorthClad and should not be used, duplicated or modified 9 I nSUIatlon I nSIde
without the express written consent. Copyright © 2010 th e Stu d C&Vlty
NorthClad All Rights Reserved 10




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

<=——— Verify

(Available) .050" Aluminum
Coping (Pt.# AL35) Prefinished,
with .050" 12" Long Aluminum
Butt Plate (Pt.# AL36) Centered at
Coping Reveal, Prefinished to
Match Coping, Attached with #12
Neoprene Washered Screws 24"
O.C. or per Engineering

Verify —
N —
Per 1]
Plans I ™ Per
o] ' 2%" __ | Plans
1= Min.
I[
(I
1| : Y 1
I |
(158 |
I : \
:;1;1; ! (Available) .050" Aluminum g
I | Continuous Coping Clip B
i | (Pt.# AL37), Attached with #10 &
i ! Screws 12" O.C. or per '!DE
I | Engineering =
" , c
:;1;:; : NorthClad Aluminum Panel per 3
18 l A/DET
I |
I !
Il M
\ Framing, Sheathing and WRB not
=— 13" by NorthClad
m Section - Coping
DET
NO. DESCRIPTION oate | mir. | |Project Sheet Title DET
1 Design 10/31/2014 | ME N O rt h C I ad A L —
OO0 ) 3" = 10"
North®s-Clad’ | Panel Standard ==
rainscreen solutions s D etal IS —
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ° D ET D
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
° H H APPROVED
This document \s‘property of Northclaq and should not be qsed, duplicated or modified 9 I nSUIatlon I nSIde
e e e e, Capy © 2010 - the Stud Cavity




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

}/2"

= 120" 120" ——=

Butyl Tape

Butyl Tape

—— Butt Plate at Coping

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7

www.northclad.com

This document is property of NorthClad and should not be used, duplicated or modified 9

without the express written consent. Copyright © 2010
NorthClad All Rights Reserved 10

Insulation Inside
the Stud Cavity

Reveal
/E\ Isometric - Coping Splice
DET

NO. DESCRIPTION paTE | T Project Sheet Title DET

T = T NorthClad AL |=
mm| | 2 3§ =10
North®™=:=Clad® |- Panel Sta_mdard

rainscreen solutions 5 D etal I S Sheet

DETE

APPROVED




Last Saved By: eversm on 10/25/2014

P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

=

Framing, Sheathing and WRB not by

NorthClad
c
il
2]
c
(O]
| £
- a
| ©
! g
: o
|
l — NorthClad Aluminum Panel per B/DET
N
\ }/2"
| g
: 2g
- | Qe
£|E
| =
! ol
_______________________ > os—soenly § NS
1
. . Panel Dimension
<—— Panel Dimension = (4" Minimum)

}/2"

ﬂ;l\ Plan - Outside Corner without Trim

DET

North

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com

B . |
taoClad 4

NO. DESCRIPTION DATE [ INIT.

1 Design 10/31/2014 [ ME

rainscreen solutions 5

This document is property of NorthClad and should not be used, duplicated or modified 9
without the express written consent. Copyright © 2010
NorthClad All Rights Reserved 10

Project

Sheet Title

NorthClad AL aal

Panel Standard |=—

3"=1-0"
Detalils
DET G1

Insulation Inside APPROVED
the Stud Cavity




Last Saved By: eversm on 10/25/2014

P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

= %

|

N

17"

3"

Panel Dimension

2u

=

Framing, Sheathing and WRB not by
NorthClad

NorthClad Aluminum Panel per B/DET

(Available) .050" Aluminum "J " Cleat
(Pt.# AL28) Attached with #12 Screws
24" O.C. (Two Used at Each Corner)

(Available) .050" Aluminum Outside
Corner Trim (Pt.# AL26), Prefinished
to Match NorthClad Panel Attached
with Blind Rivets at 24" O.C.

—— NorthClad Aluminum Panel
(Right Termination)

@ Plan - Outside Corner with Trim

DET

DESCRIPTION

DATE

INIT.

Design

10/31/2014

LI

North8s=Clad’

rainscreen solutions

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204
* PHONE: 425.740.3702 * FAX: 425.740.3701 *

www.northclad.com

This document is property of NorthClad and should not be used, duplicated or modified

without the express written consent. Copyright © 2010
NorthClad All Rights Reserved

NorthClad AL —
3"=1-0"
Panel Standard |
Details
DET G2
Insulation Inside APPROVED
the Stud Cavity




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

Panel Dimension

Panel Dimension

e

}/Zu

L 1%1"

NorthClad Aluminum Panel per B/DET

(Required) .050" Aluminum Cleat (Pt.#
AL25) Attached with #12 Screws 24" O.C.

Framing, Sheathing and WRB not by
NorthClad

m Plan - Inside Corner without Trim

DET

LI

North8s=Clad’

rainscreen solutions

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204
* PHONE: 425.740.3702 * FAX: 425.740.3701 *
www.northclad.com

DESCRIPTION

DATE

INIT.

Design

10/31/2014

This document is property of NorthClad and should not be used, duplicated or modified
without the express written consent. Copyright © 2010
NorthClad All Rights Reserved

Project Sheet Title

NorthClad AL aal

Panel Standard |=—

3"=1-0"
Detalils

DET H1

Insulation Inside APPROVED
the Stud Cavity




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

Panel Dimension

3/||

L 1%1"

NorthClad Aluminum Panel per B/DET

(Available) .050" Aluminum Inside Corner
Trim (Pt.# AL27) , Prefinished to Match
NorthClad Panel Attached with Blind Rivets
at 24" O.C.

(Available) .050" Aluminum "J " Cleat (Pt.#
AL28) Attached with #12 Screws 24" O.C.
(Two Used at Each Corner)

X X ‘b
Panel Dimension |

NorthClad Aluminum Panel

(Right Termination)
= = Uy Framing, Sheathing and WRB not by
NorthClad
m Plan - Inside Corner with Trim
DET
NO. DESCRIPTION DATE INIT. PrOjECl Sheet Title DET
1 Design 10/31/2014 | ME N O rt h C I ad A L =
3"=1-0"

o i Panel Standard

NorthdezClad® |-

rainscreen solutions 5 D e tal I S Sheet

6
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 D ET H 2

* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
- Insulation Inside
This document is property of NorthClad and should not be used, duplicated or modified 9 u .
without the express written consent. Copyright © 2010 th e Stu d C&Vlty

NorthClad All Rights Reserved 10

APPROVED




Last Saved By: eversm on 10/25/2014

P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

%"

Framing, Sheathing and WRB not by
NorthClad

i
|
| —— WRB Detailing not by NorthClad
c
NorthClad Aluminum Panel per -‘%
A/DET é
- —— (Required) .050" Aluminum Starter &
- { (Pt# AL21) Attached with #14 EPDM T
o IH Washered Screws at Framing or per I
| Engineering
N e —— 1,"x%" Weep Slots @ 6" O.C.
ﬂ - a2
———— — yZH
L \ (Available) .050" Aluminum Base
Flashing (Pt.# AL22), Prefinished to
Match NorthClad Panel Attached with
#12 Screws 24" O.C.
(Available) .050" Aluminum Flashing
(Pt.# AL23), Prefinished to Match
NorthClad Panel, Attached with #10
Screws 24" O.C.
Window System and Sealant not by
NorthClad
m Section - Window Head
DET
NO. DESCRIPTION pate |, | |Project Sheet Title DET
1 Design 10/31/2014 | ME N O rt h C I ad A L —
mm| | 2 3§ =10
North®s-Clad’ | Panel Standard ==
rainscreen solutions s D etal IS P
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ° D ET \] 1
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
This document \s‘property ofNorthCIaq and should not be qsed, duplicated or modified 9 InSUIatlon InSIde APROVED
e rigme oo™ © 201 . the Stud Cavity




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

%"

NorthClad

A/DET

Engineering

WRB Detailing not by NorthClad

NorthClad Aluminum Panel per

(Required) .050" Aluminum Starter
(Pt.# AL21) Attached with #14 EPDM
Washered Screws at Framing or per

Y4"x%" Weep Slots @ 6" O.C.

Framing, Sheathing and WRB not by

Panel Dimension ———=

= e

@ Section - Louver Head

#12 Screws 24" O.C.

Screws 24" O.C.

NorthClad

DET

(Available) .050" Aluminum Base
Flashing (Pt.# AL22), Prefinished to
Match NorthClad Panel Attached with

(Available) .050" Aluminum Flashing
(Pt.# AL23), Prefinished to Match
NorthClad Panel, Attached with #10

Louver System and Sealant not by

LI

North8s=Clad’

rainscreen solutions

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204
* PHONE: 425.740.3702 * FAX: 425.740.3701 *
www.northclad.com

DESCRIPTION

DATE

INIT.

Design

10/31/2014

This document is property of NorthClad and should not be used, duplicated or modified
without the express written consent. Copyright © 2010
NorthClad All Rights Reserved

Project

NorthClad AL

Panel Standard

Detalils

Insulation Inside
the Stud Cavity

Sheet Title

DET

Scale

3"=1-0"

Job Number

Sheet

DET J2

APPROVED




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

S S S S TS50 S50 SS S S S SESSSSTEE TR

%"

—— Framing, Sheathing and WRB not by

NorthClad

WRB Detailing not by NorthClad

NorthClad Aluminum Panel per
A/DET

(Required) .050" Aluminum Starter
(Pt.# AL21) Attached with #14 EPDM
Washered Screws at Framing or per
Engineering

Y4"x%" Weep Slots @ 6" O.C.

Panel Dimension ———=

=y

KJ-?:\ Section - Door Head

\ (Available) .050" Aluminum Base

Flashing (Pt.# AL22), Prefinished to
Match NorthClad Panel Attached with
#12 Screws 24" O.C.

(Available) .050" Aluminum Flashing
(Pt.# AL23), Prefinished to Match
NorthClad Panel, Attached with #10
Screws 24" O.C.

Door System and Sealant not by
NorthClad

DET

LI

North8s=Clad’

rainscreen solutions

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204
* PHONE: 425.740.3702 * FAX: 425.740.3701 *
www.northclad.com

DESCRIPTION

DATE

INIT.

Design

10/31/2014

This document is property of NorthClad and should not be used, duplicated or modified
without the express written consent. Copyright © 2010
NorthClad All Rights Reserved

Project

Panel Standard

Sheet Title

NorthClad AL aal

Scale

3"=1-0"

Job Number

Detalils

DET J3

Insulation Inside APPROVED
the Stud Cavity




Last Saved By: eversm on 10/25/2014

" —

P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

4"

WRB Detailing not by
NorthClad

Window System and Sealant
not by NorthClad

(Available) .050" Aluminum
Flashing (Pt.# AL23),
Prefinished to Match
NorthClad Panel, Attached
with #10 Screws 24" O.C.

(Available) .050" Aluminum
"Jamb" Trim (Pt.# AL24),
Prefinished to Match
NorthClad Panel, Attached
with #10 Screws 24" O.C.

©

NorthClad Aluminum Panel
per B/DET (Right Termination)

This document is property of NorthClad and should not be used, duplicated or modified 9
without the express written consent. Copyright © 2010
NorthClad All Rights Reserved 10

<= Panel Dimension "
—— Framing, Sheathing and WRB
not by NorthClad
m Plan - Window at Left Jamb
DET

NO. DESCRIPTION oate | mir. | |Project Sheet Title DET

1 Design 10/31/2014 | ME N O rt h C I ad A L —
Oom : S0
North®s-Clad’ Panel Standard ==
rainscreen solutions s D etal IS -
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ° D ET K 1
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
8 APPROVED

Insulation Inside
the Stud Cavity




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

4"

oy —

<—— Panel Dimension

m Plan - Louver at Left Jamb

WRB Detailing not by
NorthClad

(Available) .050" Aluminum
Flashing (Pt.# AL23),
Prefinished to Match
NorthClad Panel, Attached
with #10 Screws 24" O.C.

(Available) .050" Aluminum
"Jamb" Trim (Pt.# AL24),
Prefinished to Match
NorthClad Panel, Attached
with #10 Screws 24" O.C.

©

}/Zu

—— Framing, Sheathing and WRB
not by NorthClad

DET

Louver System and Sealant
not by NorthClad

NorthClad Aluminum Panel
per B/DET (Right Termination)

DESCRIPTION

DATE

INIT.

Design

10/31/2014

LI

North8s=Clad’

rainscreen solutions

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204
* PHONE: 425.740.3702 * FAX: 425.740.3701 *

www.northclad.com

This document is property of NorthClad and should not be used, duplicated or modified
without the express written consent. Copyright © 2010

NorthClad All Rights Reserved

Project

NorthClad AL
Panel Standard
Details

Insulation Inside
the Stud Cavity

Sheet Title

DET

Scale

3"=1-0"

Job Number

Sheet

DET K2

APPROVED




Last Saved By: eversm on 10/25/2014

P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

4" WRB Detailing not by
NorthClad
Ciiiiiiiiiiiiiiiiiiiiioiiionn: :f:}:f:}:f:}:f:"f:}:f:}:iz
Door System and Sealant not
by NorthClad
\ -
L et e S
1 — \
(Available) .050" Aluminum
Flashing (Pt.# AL23),
Prefinished to Match
NorthClad Panel, Attached
with #10 Screws 24" O.C.
—— (Available) .050" Aluminum
"Jamb" Trim (Pt.# AL24),
Prefinished to Match
NorthClad Panel, Attached
with #10 Screws 24" O.C.
—: NorthClad Aluminum Panel
per B/DET (Right Termination)
< Panel Dimension o
—— Framing, Sheathing and WRB
not by NorthClad
@ Plan - Door at Left Jamb
DET
NO. DESCRIPTION DATE INIT. PrOjECl Sheet Title DE—I—
1 Design 10/31/2014 | ME N O rth C I ad AL —
Oom 2 3 =10
North®s-Clad’ | Panel Standard ==
rainscreen solutions s D etal I S P
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ° DET K3
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
This document \s‘propertyofNorthCIacvi and should not be qsed, duplicated or modified 9 InSUIatlon InSIde APROVED
e e oo % . the Stud Cavity




Last Saved By: eversm on 10/25/2014

WRB Detailing not by
NorthClad

P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

Window System and Sealant
not by NorthClad

(Available) .050" Aluminum
Flashing (Pt.# AL23),
Prefinished to Match

NorthClad Panel, Attached

with #10 Screws 24" O.C.

(Available) .050" Aluminum
"Jamb" Trim (Pt.# AL24),
Prefinished to Match
NorthClad Panel, Attached
with #10 Screws 24" O.C.

NorthClad Aluminum Panel
per B/DET

Framing, Sheathing and WRB ——
not by NorthClad

}/zn

I 1%"

Panel Dimension ———=

/I\/D Plan - Window at Right Jamb

DET

LI

North8s=Clad’

rainscreen solutions

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204
* PHONE: 425.740.3702 * FAX: 425.740.3701 *
www.northclad.com

DESCRIPTION

DATE

INIT.

Design

10/31/2014

This document is property of NorthClad and should not be used, duplicated or modified
without the express written consent. Copyright © 2010
NorthClad All Rights Reserved

NorthClad AL
Panel Standard
Details

Insulation Inside
the Stud Cavity

Sheet

Title

DET

Scale

3"=1-0"

Job N

umber

Sheet

DET M1

APPROVED




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

WRB Detailing not by
NorthClad

Louver System and Sealant
not by NorthClad

(Available) .050" Aluminum
Flashing (Pt.# AL23),
Prefinished to Match

NorthClad Panel, Attached

with #10 Screws 24" O.C.

(Available) .050" Aluminum ——
"Jamb" Trim (Pt.# AL24),
Prefinished to Match
NorthClad Panel, Attached
with #10 Screws 24" O.C.

NorthClad Aluminum Panel ——
per B/DET

}/Zu

Framing, Sheathing and WRB ——
not by NorthClad

4"

Panel Dimension ———=

m Plan - Louver at Right Jamb

This document is property of NorthClad and should not be used, duplicated or modified 9
without the express written consent. Copyright © 2010

NorthClad All Rights Reserved 10

Insulation Inside
the Stud Cavity

DET
NO. DESCRIPTION oate [, | [Project Sheet Title DET

1 Design 1013172014 | ME N O rt h C I ad A L
2 Scale 3" — 1| OII

e Panel Standard —

North®s-Clad" | ane Stahaard | =
4 -
rainscreen solutions 5 D e tal I S —
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ’ D ET M 2
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com

8 APPROVED




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

WRB Detailing not by 4"
NorthClad

Door System and Sealant not
by NorthClad

(Available) .050" Aluminum /
Flashing (Pt.# AL23),
Prefinished to Match

NorthClad Panel, Attached

with #10 Screws 24" O.C.

(Available) .050" Aluminum ——
"Jamb" Trim (Pt.# AL24),
Prefinished to Match
NorthClad Panel, Attached
with #10 Screws 24" O.C.

NorthClad Aluminum Panel ——
per B/DET

i Panel Dimension ———=

Framing, Sheathing and WRB ——
not by NorthClad

@ Plan - Door at Right Jamb

DET

Project

Sheet Title

NorthClad All Rights Reserved 10

NO. DESCRIPTION DATE INIT.
DET
1 Design 10/31/2014 | ME N O rt h C I ad A L
DD. 2 Scale 3" — 1|_0"
North®==Clad® |- Panel Standard |—
(o 0] ‘ .
rainscreen solutions s D e tal I S -
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ’ D ET M 3
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
8 H H APPROVED
This document is property of NorthClad and should not be used, duplicated or modified 9 I nSUIatlon I nSIde
without the express written consent. Copyright © 2010 th e Stu d C&Vlty




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

Window System and Sealant not by
NorthClad

(Available) .050" Aluminum
Flashing (Pt.# AL23), Prefinished
to Match NorthClad Panel,
Attached with #10 Screws 24" O.C.

(Available) Two Piece.050"
Aluminum Window Sill Trim(Pt.#
AL33 and Pt.# AL34), Prefinished
to Match NorthClad Panel,

Attached with #10 Screws 24" O.C.
}/Zn
N
;S 2"
;; — }/2..
-
S
A —— #14 EPDM Washered Screws at @
§ Framing or per Engineering OE)
N £
A NorthClad Aluminum Panel per a
Y A/DET 2
v <
A Q
—— Framing, Sheathing and WRB not
by NorthClad
= 1%1..
/m Section - Window Sil
DET
NO. DESCRIPTION DATE INIT. PrOjECl Sheet Title
1‘ Design 10/31/2014 | ME N O rt h C I ad A L DET
Scale 3" _ 1| 0"
[ - il
NorthBs=Clad’ |- Panel Standard | ==
rainscreen solutions s D etal IS -
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ° D ET N 1
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
8 : : APPROVED
This document \s‘property of Northclaq and should not be qsed, duplicated or modified 9 I nSUIatlon I nSIde
ot e xpres iten sonsent. Copyiot © 2010 . the Stud Cavity




Last Saved By: eversm on 10/25/2014

P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

Louver System and Sealant not by
NorthClad

(Available) .050" Aluminum
Flashing (Pt.# AL23), Prefinished
to Match NorthClad Panel,
Attached with #10 Screws 24" O.C.

(Available) Two Piece.050"
Aluminum Window Sill Trim,
Prefinished to Match NorthClad
Panel, Attached with #10 Screws

iEh‘\IG 24" O.C.
pl (|
| -E._u | — }/2"
i M| ==
& N .
B IV 2
= s:\mm"iiin I
- il — 7"
L NN
NN
B N
NN
N
Y\ <
|
Al i=y
- Al #14 EPDM Washered Screws at @
§§§ Framing or per Engineering g
INAN
Al . £
§§§ NorthClad Aluminum Panel per o
M A/DET 2
M S
/M o
N
NN
N
—— Framing, Sheathing and WRB not
by NorthClad
_ ]_%"
m Section - Louver Sill
DET
NO. DESCRIPTION DATE INIT. PrOjECl Sheet Title
DET
1 Design 10/31/2014 | ME N O rt h C I ad A L
Scale
o i Panel Standard 2
NorthZs-Clad’
.
rainscreen solutions s D etal IS <
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ° D ET N 2
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
8 : H APPROVED
This document is property of NorthClad and should not be used, duplicated or modified 9 I nSUIatlon I nSIde
without the express written consent. Copyright © 2010 th e Stu d C&Vlty
NorthClad All Rights Reserved 10




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

= 13"

—— WRB Detailing not by NorthClad

—— (Required) .050" Aluminum

Framing, Sheathing and WRB
not by NorthClad

NorthClad Aluminum Panel per
A/DET

Starter (Pt.# AL21) Attached with
#14 EPDM Washered Screws at
Framing or per Engineering

Panel Dimension

/ Yi"x¥" Weep Slots @ 6" O.C.
: (Available) .050" Aluminum Base
~ Return Flashing (Pt.# AL31),
| Prefinished to Match NorthClad
Panel Attached with #12 Screws
————————————————————————————— B 24" O.C.
¢
78
—— (Available) 16 Gauge 3x1"
1% Galvanized, Attached with #14
Screws at 16" O.C. or per
Engineering
@ Section - Fascia to Soffit
DET
NO. DESCRIPTION oate | mir. | |Project Sheet Title DET
1 Design 10/31/2014 | ME N O rt h C I ad A L —
OOm : 3 =10
North®s-Clad’ | Panel Standard ==
rainscreen solutions s D etal IS P
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ° D ET P 1
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
8 H H APPROVED
This document \s‘property of Northclaq and should not be qsed, duplicated or modified 9 I nSUIatlon I nSIde
e e oo % . the Stud Cavity




Last Saved By: eversm on 10/25/2014 P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

= 13"

—— WRB Detailing not by NorthClad

—— (Required) .050" Aluminum

Framing, Sheathing and WRB
not by NorthClad

NorthClad Aluminum Panel per
A/DET

Starter (Pt.# AL21) Attached with
#14 EPDM Washered Screws at
Framing or per Engineering

Yi"x¥" Weep Slots @ 6" O.C.

Panel Dimension

(Available) .050" Aluminum Base
Return Flashing (Pt.# AL31),
Prefinished to Match NorthClad
Panel Attached with #12 Screws
24" O.C.

< }/le
1}/4..
—— (Available) 16 Gauge 3x1"
., Galvanized, Attached with #14
% Screws at 16" O.C. or per
Engineering
@ Section - Fascia to Soffit
DET
NO. DESCRIPTION pate | mr. | |Profect Sheet Title DET
1 Design 10/31/2014 | ME N O rt h C I ad A L —
I:”:l. R 3" =1-0"
North®s-Clad" |- Panel Standard ==
rainscreen solutions s D etal IS P
11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204 ’ D ET P 2
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com
8 H H APPROVED
This document \s‘property of Northclaq and should not be qsed, duplicated or modified 9 I nSUIatlon I nSIde
e e oo % . the Stud Cavity




Last Saved By: eversm on 10/25/2014

P:\NorthClad\NorthClad System Standard Details\AL\Details.dwg

A

02220228

A
nltﬂ

—!

Panel Dimension

LTTTIIITTLATATIAC - AT TITIT TSI T TSI TSNS ST TS ITHUGSS T T IS T TS IS SGS S S TSSOSO aOasss sy

1" <N

NorthClad Aluminum Soffit Panel per A/IDET

(Available) .050" Aluminum Inside Corner
Trim (Pt.# AL32), Prefinished to Match
NorthClad Panel Attached with Blind Rivets
at24" O.C.

NorthClad Aluminum Panel per A/IDET

R A - A TR LRURRRS 2 AR

(XX XX

Framing, Sheathing and WRB not by
NorthClad

o

/Q—l\ Section - Soffit at Top of Wall

NO. DESCRIPTION pate |, | |Project

1 Design
HE | :

North8s=Clad’ ||

rainscreen solutions 5

10/31/2014 [ ME

NorthClad AL
Panel Standard
Details

11831 BEVERLY PARK RD. BUILDING C, EVERETT, WA 98204
* PHONE: 425.740.3702 * FAX: 425.740.3701 * 7
www.northclad.com

Insulation Inside
the Stud Cavity

This document is property of NorthClad and should not be used, duplicated or modified 9
without the express written consent. Copyright © 2010
NorthClad All Rights Reserved 10

Sheet Title

DET

Scale 3" — 1|_0"
Job Number
Sheet

DET Q1

APPROVED




